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414| 8|THH|[Z} Hl2{2 ) HFERE = pakagel 1| 13,000[ 13,000[et= 1&ix
415 8[EH® Xl A 5 Chat7| =l 1| 14,000[ 14,000(22&= &3}
416| 8otz EERN Ctel 1| 13,000] 13,000|2&*

417| 8|tHE E7|= LICH2 A Z0t e e EEE 1| 12,000[ 12,000{2=

418| 8| HOM™ L|X| QAEHA AAFA [FLOAGA 11 11,800 11,800(2&

419| 8|EOFQ| =& 2|& Sk AAE 1 11,000[ 11,000|3H&E=ES
420 8|EX7|Of H ==& qge oI Ry et 1| 12,000[ 12,000(FE= S}
421 8|EEE2|H 33 = X2 0|2 A OtO[ M= 1f 11,000[ 11,000|3= 18~
422 8f=&= OfA3 M=g | 1| 12,000 12,000|1 &=

423| 8|=0I2 RRE LBt 323 AR = BIA 2t 1| 12,000 12,000|3UH&E=Es
424 8|FIFHSF A A Let 2 CHat7|=l 1| 14,000[ 14,000(2 2 &= &3}
425 8(EE2Y £=27, Otiths of IE ZX|? AL BAE Of 20| & 7HE A 1| 13,000[ 13,000({%

426| 8|=01Z = gl&LCH HE= Of Zlojotad 1| 13,000[ 13,000(2&%

427| 8|St 4 A FIAL = DI 2t 1| 15,000 15,000| 1 &=

428| 8|CI=L| 2tofet OIX|Y E2f2 2H|E3} |C|=L| 53 o= |0fZH]| 11 9,500( 104,500|%o 7hziei 2z
429 8[C|=L| HAt A2 FH|=5%} Cl=L| S5 OtEE [0 EH| 1 9,500 9,500|=0t 7heel 2z
430| 8| E 1Y o=l 7 E 11 11,000] 11,000|=&= 53
431| 8|t £ X! O|OFL|A| EFXOF  |A[SFL{O] 1| 12,500 12,500({=

432| 8|0rEE Q= 3041lE| 18E ofzto| 1| 12,000[ 12,000(FE= S}
433( 8[OFX|T} 2f|d & adF | 1| 10,800 10,800|3LH&E= &3t
434 8[THFO| MIA| (2|7 H]) QAEHH MAF |FLHOZLGA 11 11,800| 11,800|2 &

435| 8|YEN ZOHH X7} 2L} Sk ASFL O 1| 9,500[  9,500[at= 1@
436| 8 OFQIFrERQl : MYl H HYx miyE o (fUHS 1| 13,000[ 13,000({22&= &3}
437| 8|HAE A A==F Mol=a 1| 13,000[ 13,000[at= 13
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